(isolated rat uterus)

1. '
De Jalon
1.1
oxytocin 5 X 10 A& i.u./ml.
' oxytocin single dose 5x10 a i.u./ml.
(force) (frequency) o
15
De Jalon ' baseline
30 5
10 ™Mg-/ml. 15 oxytocin
15 '
oxytocin
(p<0.05)

(dose dependent inhibition)

10 Mg-/ml.



30

5 Mg-imlI. f 10 11
# 5 Mg-/iml. '
35.45 + 4.33 % 36.85 + 2.78 %
# 10 yUg./ml.
' ' 77.03 + 4.58 % 66.11
+ 6.17 % 12 13
15
( X )
# 5 10 /(g./ml.
58.77 + 3.94 % 92.62 + 2.11 %
14 absolute ethanol 0.5 /I(1./m].
(control solvent)
oxytocin 5 X 10~* i.u./ml. 9, 12, 13 14
1.2
Ach 1 X 10-e M.
Ach single dose 1 X 10 6 M.
#
15 15
De Jalon
baseline 30
# 5 10 Mg./ml. 15
Ach 15
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=

oxytocin 5 x 10 "i.u./ml,

9 ethanol 0.5 /

2 +
control solvent oxytocin 5 X 10 ~i.u./ml.

15 min.

(control solvent)

4 min.

oxytocin 5x10 “i.u./ml.
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oxytocin 5 x 10—4i.u./ml.

oxytocin 5 x 10
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5, M g ./ m I .

15 min.
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oxytocin 5 x 10—4i.u./ml.

5 mg. /ml.

5
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oxytocin 5x 10 i.u./ml. oxytocin 5 x 10 i.u./ml. 4 min.

10 /(g./ml.

15 min.

11 10 /Ig.Im 1.
oxytocin 5 X 10 i.u./ml.



FORCE OF CONTRACTION (%)
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110
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*
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0 T T T f y 1
control solvent
5 m.I ml 10
' 12
oxytocin
5x 10 N i.u./ml.
+
= 8




FREQUENCY OF CONTRACTION )

110

100

90

80

70

60

50

40

30

20

10

35

*
*
| | .‘ T /i-.‘ 1
control solvent
5 Mg./ml. 10 Mg./ml.
oxytocin

5x 10 M i.u./ml.

I+

(P < 0.05)

|| HAdfcfcy




TOTAL OF CONTRACTION &)

110

100

90

80

70

60

40

30

20

10

36

e

*
=
*
L
| /i I = 2
control solvent
5 Mg—/ml. 10 Mg-/ml.
14
oxytocin
5x 10 ™ i.u./ml.
+
= 8
*

(P < 0.05)




Ach (p<0.05)
?(
16 17
5 Mg- / ml. 33.61 + 5.95 %

54.78 + 6.68 %

10 /(g. / ml. 70.93 +
5.07 % 89.55 + 2.33 % 18
19 ‘
15
5 10 Mg- [/ ml.
68.45 + 6.65 ®» 97.17 + 0.92 %
20 absolute ethanol 0.5 /<1l./ml.(control
solvent)
Ach
1 X 10~e M. 15, 18, 19 20
1.3

5-HT 5 X la~e M

5-HT single dose 5 X 10-e M
21 15
De Jalon
baseline 30
5 10 Mg-/ml. 15

5-HT 15
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Ach. 1 x 10 ° M. control solvent Ach. 1 x 10_6 M. 4 min.

15 min.

15 3 ethanol 0.5 /(I./ml. (control solvent) Ach 1 X 10
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' Ach. 1 x 106 M

5 ms- | mi.
15 min.

" 16 5 ms-rml.
Ah1x10 % wm
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Ke. 1% 1072

iy

M.

Ach 1« 10_6 h

A7 5 it T .. .
INANHAGN  ach. 1 x 107° M. 4 min.

100 cug-7/ml .
15 min

10 >ug. / ml.




FORCE OF CONTRACTION (%)
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Ach. 1x 10-6 M

I+

(P < 0.05)
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FREQUENCY OF CONTRACTION (%)

100

90

80

70

60 —

50

40 -

30

" /1'; '," Y p = ,-" .
; ; : o7 ik

/ /

7 -

e =
s S
4 4
10 . Z T

b - 7 &
< /f .‘f

control solvent

5 wMg./ml- 10 yug./ml .

19

Ach. 1 X 10“6 M.

I+

(P < 0.05)



43

TOTAL OF CONTRACTION (%)

110

100 I

90 -

70 -

60 —

50 —

30 —
20 —
10 - eyl *

I l 1 1 | 1 I

control solvent

5 Mg-/ml. 10 Mg-/ml.

20

Ach. 1 X 10 6 M.

I+

(P~ 0.05)



5-HT (p<0.05)
22 23
5 yuUg./ml. 70.22 + 6.44 %
26.92 + 4.04 %
10 Mg-/ml. 84.99 + 3.00 %
86.73 + 3.83 % 24
25 '
15
5 10 Mg./ml.
78.53 + 4.21 % 97.89 + 0.77 % 26
absolute ethanol 0.5 1!'./ml.(control solvent)
5-HT 5 x 10"e M.
21,24,25 26
1.4
KC1 50 mw.
KC1 single dose 50 mM.
27 15
De Jalon baseline
30 5

44



21

15 min.

ethanol 0.5  1-/mi1- (control solvent)

min.

5-HT 5 x 10~6 M.



m MM

5-HT 5 X 10

«->»«3

M.

«

1l -6 . 4 min.

if 5-HT 5 x 10
5 /(g./ml.
15 min.
Mg. / ml.
If TM n
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23

5-HT 5 X 10~6 M.

{ &
L = 1 Ul [_
uj A A 7

IAHAgN 5-HT 5 x 10 = M. 4 min.
10 Ag-/ml.

15 min.

10 Mg./m|.

0



FORCE OF CONTRACTION (%)

110

100

90

80

70

60

40

30

20

10
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control solvent

5 wMg./ml.

24

I+

(P < 0.05)

10

Mg./ml.

5-HT 5 x 10~6 M




FREQUENCY OF CONTRACTION (%)

49

110

100 4+

90

80

60

50

40

30 —

20

10 -+

0 [ 1 \ [

control solvent

5 Kg./ml.

I+

(P < 0.05)

10 Kg./ml.

5-HT 5«

10 6 M.




TOTAL OF CONTRACTION (%)

110

100

90

80

70

60

40

30

20

10

50

] *
: * }
: T 5
] l | | 1
control solvent Fugnuagn IudnAgn
5 g./ml. 10 Mg./ml.

26

I+

(P < 0.05)

5-HT 5 X 10-6 M.



10 >ug./ml. 15 KC1
15
KC1
(p<0.05) '
28 29 5
MS- [/ ml. 53.85 + 4.85 %
10 MS-/ml.
91.84 + 0.87 % 30 absolute ethanol
0.5 /<1./ml. (control solvent)
KC1 50 mM.
27 30
5 i 11 J :Ifl
Locke Ringer ] EGTA
2.1
oxytocin 1 X 10 E i.u./ml.
oxytocin 1 X 10~2 i. ./ml.
Locke Ringer EGTA
31
10 MS-/ml. oxytocin
Locke Ringer EGTAN

5l
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ek S/ L »
4 he i 4 1
KC1 50 mM control solvent KC1 50 mM 4 min.
15 min.

21 ethanol 0.5 ml./m I. (control solvent) KCL 50 mM



ot SenaeTed)

+

KCl 50 mM.

KC1 50 mM

__4__;_54 :
T

Jmdfnupgn - KC1 50 mM.

5 et

15 min.

5yUg./ml.

4 min.

&5



KC1 50 mM

"+ 29

KC1 50 mM

*
KC1 50 mM 4 min.
10 M S / m |
15 min.
10 tfg./m .

Q



FORCE OF CONTRACTION (%)

55

110

90 A

4 .'/ B
80 — P /.~ "-/ ./
70 ol '/ /
60 - e *

50 - LSS

40 -

30 - A
20 - R e & IS

10 / /

P W 4

/ J // /’T

control solvent

5 Mg-/ml.

30

I+

(P < 0.05)

10 Mg-/ml.

KC1 50 mM




56

31 44.20 + 1.12 %
32

(p < 0.05)

2.2

vanadate 1 x 10~Z& M.

vanadate Lo 10‘”* M.
Locke Ringer EGTA
33
10 /<g./ml. vanadate
Locke Ringer EGTA
33 33.62 + 2.79 %
34
(p < 0.05)
2.3
PGF2< 1 x 10“e M
PGF2x 1x10 e M
Locke Ringer EGTA

35



oxytocin ethanol 0.5 ~Il./m |I.

1X 10 2i.u./ml.

10 min.

4 A

oxytocin jquﬁﬂﬂﬂ@ﬂ 10 wug./ml.

1 x 1O_Zi.u./ml.

3l

oxytocin 1 X 10 *-i-.u./ml.

10 min.

10 /«

5 rag.

Jdml.

57
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FORCE OF CONTRACTION

100

90

80

70

60

50

40

30

20

10

58

control solvent

I+

(P < 0.05)

oxytocin 1 X 10 2 i.u./m|.



4 4 I

vanadate  ethanol 0.5 > 1*/1 1* 10 min.
1x 10~4 M

4 4 =T
vanadate 10 ,«g./ml. 10 min.
1x 10~4 M
33 10 /(g./ml.

vanadate 1 x 10~4 M.
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FORCE OF CONTRACTION

100

90

80

70

60

50

40

30

20

10

60

'''''''''

control

I+

< 0.05)

vanadate

solvent

1X 104 M



10 Ms-

(p < 0.05)

oxytocin

30

61

#
/[ ml. PGF2Q
Locke Ringer EGTA
35 45.06 + 3.50 %
36
#
(intact rat uterus)
#
( 2 2.5
7) 30
oxytocin 1 _i-u~ 1
(intraperitoneal injection)
# 37.1,38 39.1
20 - 30
0.5 1 #
oxytocin
#
#
# 1
3 #
37.1 , 37.2 , 38 , 39.1 39.2
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PGF2 ethanol 0.5 ul./ml. 10 min.

1 % 96 Py,

PGF,_ dwinusgn 10 aug. / ml. 10 min.

1X 10-5 M.

55 10 mg. Iml.

prostaglandin F Ix 10 e M.
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FORCE OF CONTRACTION

100

90

80

70

60

50

40

30

20

10

«
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,,,,,

......

......

control solvent

(P < 0.05)

I+

prostaglandin F

2.

CK

| X

10_6M.

63
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oxytocin 1 i. ./kg.(IP.) control solvent oxytocin 1 i. ./kg.(IP.)
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30 min. (IP.)

37.1 ' control solvent (ethanol) 1
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Fndinungn oxytocin B Y
0.5 g./kg. 1 isus/kgs

30 min.(IP.) (IP-)

37.2 0, g./kgI 1

07



control solvent oxytocin l l

30 min./ (IP.) 1 i.u./kg. 4 min.

LA»

ARTN9ATg

A

20 mmHg.

(IP.)

oxytocin 1 i.u./kg.(IP.)

0.5 g./kg.

30 min.(IP.)
' 38 3 0.5 g./kg. 2
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b { X 2 1 —«E
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]r

4 min.

oxytocin IVERS

30 min. (1P.)

control solvent (ethanol)

Ikg. (1P.)
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t d : e = 20 mmHg.
TEVHAAN A
L arliRi

oxytocin 1 i. ./kg. (IP.) oxytocin 1 i.U./kg.(IP. 4 min.

0.5 g./kg.

30 min.(IP.)

39.2 0.5 g./kg. 3



69

/
Sy

2. oxytocin
' 30
oxytocin 1i.u. 1
40.1,41,42,43,44 45 10 - 20
0.5
1 20 - 30
6

40.2,41,42,43,44

45 ,
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oxytocin control solvent 4 min.

1iu./kg. (IP.) (1P.)

40.1 ' control solvent (ethanol) 4
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|

oxytocin T .

Liu./kg. (IP-) 0.5 g./kg. (IP.)) 1i.u./kg. (IP.)

40.2 : 0.5 g. Ikg. )



oxytocin ’J"M“ffﬂﬁdﬂ@ﬂ oxytocin

1iu./kg. (IP.) 0.5 g./kg. (IP.) 1i.u./kg. (IP.)

41 0.5 g./kg. "5



20 mmHg.

oxytocin ﬁﬂuﬁﬂuﬂﬁﬂ 4 min.

1 d.u«/Kg. (IP.) 0.5 g./kg. (1IP.)

oo 05 o./kg.



oxytocin

AudnuAan

-

(IP.)

0.5 g./kg.

(IP.)

1li.u./kg.

0.5 g./kg.
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oxytocin 4 min.

1 iu./kg. (IP.) 0.5 g./kg. (IP.)

, 44 0.5 g./kg. ' , 8



VT

(L

1li.u./kg.

oxytocin

(1P.)

0.5 g./kg.

0.5 g./kg.

20 irunHg.
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